date of notification

Notification on the transaction (-s) in issuer's securities concluded by the manager of the issuer

Nerijus Dagilis, chairman of the board

name, surname, personal code and capacity of the notifying person, or the manager of the issuer, with whom the notifying person is closely associated

Snaigė AB, 249664610, Pramonės 6, Alytus

name and code of the issuer, its registered office address

Name and	Number	Price of	Total	Form of	Type of	Date of	Place of	Form of	Category
class of the	of	securities,	value of	transaction	transacti	conclusition	the	the	of the
securities,	securities	LTL	transacti	(acquisition	on	of the	transaction	settlement	person
ISIN code			on, LTL	or transfer)		transaction			
Snaigė AB ORS, LT0000109274	67,375	0.80	53,900	Transfer	Sale	17.03.2010	AUTO	Cash	2.4

Closely related with the Issuer's manager person's representative

Chairman of the board of "Hermis Capital" UAB

Nerijus Dagilis

Director of securities accounting manager Orion Securities UAB FMI

date of notification

Notification on the transaction (-s) in issuer's securities concluded by the manager of the issuer

Nerijus Dagilis, chairman of the board

name, surname, personal code and capacity of the notifying person, or the manager of the issuer, with whom the notifying person is closely associated

Snaigė AB, 249664610, Pramonės 6, Alytus

name and code of the issuer, its registered office address

Name and	Number	Price of	Total	Form of	Type of	Date of	Place of	Form of	Category
class of the	of	securities,	value of	transaction	transacti	conclusition	the	the	of the
securities,	securities	LTL	transacti	(acquisition	on	of the	transaction	settlement	person
ISIN code			on, LTL	or transfer)		transaction			
Snaigė AB ORS, LT0000109274	4,200	0.80	3,360	Transfer	Sale	18.03.2010	AUTO	Cash	2.4

Closely related with the Issuer's manager person's representative

Chairman of the board of "Hermis Capital" UAB

Nerijus Dagilis

Director of securities accounting manager Orion Securities UAB FMI

date of notification

Notification on the transaction (-s) in issuer's securities concluded by the manager of the issuer

Nerijus Dagilis, chairman of the board

name, surname, personal code and capacity of the notifying person, or the manager of the issuer, with whom the notifying person is closely associated

Snaigė AB, 249664610, Pramonės 6, Alytus

name and code of the issuer, its registered office address

Name and	Number	Price of	Total	Form of	Type of	Date of	Place of	Form of	Category
class of the	of	securities,	value of	transaction	transacti	conclusition	the	the	of the
securities,	securities	LTL	transacti	(acquisition	on	of the	transaction	settlement	person
ISIN code			on, LTL	or transfer)		transaction			
Snaigė AB ORS, LT0000109274	15,230	080	12,184	Transfer	Sale	19.03.2010	AUTO	Cash	2.4

Closely related with the Issuer's manager person's representative

Chairman of the board of "Hermis Capital" UAB

Nerijus Dagilis

Director of securities accounting manager Orion Securities UAB FMI

date of notification

Notification on the transaction (-s) in issuer's securities concluded by the manager of the issuer

Nerijus Dagilis, chairman of the board

name, surname, personal code and capacity of the notifying person, or the manager of the issuer, with whom the notifying person is closely associated

Snaigė AB, 249664610, Pramonės 6, Alytus

name and code of the issuer, its registered office address

Name and class of the securities, ISIN code	Number of securities	Price of securities, LTL	Total value of transacti on, LTL	Form of transaction (acquisition or transfer)	Type of transacti on	Date of conclusition of the transaction	Place of the transaction	Form of the settlement	Category of the person
Snaigė AB ORS, LT0000109274	150,319	0.758	113,941	Transfer	Sale	24.03.2010	AUTO	Cash	2.4

Closely related with the Issuer's manager person's representative

Chairman of the board of "Hermis Capital" UAB

Nerijus Dagilis

Director of securities accounting manager Orion Securities UAB FMI

date of notification

Notification on the transaction (-s) in issuer's securities concluded by the manager of the issuer

Nerijus Dagilis, chairman of the board

name, surname, personal code and capacity of the notifying person, or the manager of the issuer, with whom the notifying person is closely associated

Snaigė AB, 249664610, Pramonės 6, Alytus

name and code of the issuer, its registered office address

Name and class of the securities, ISIN code	Number of securities	Price of securities, LTL	Total value of transacti on, LTL	Form of transaction (acquisition or transfer)	Type of transacti on	Date of conclusition of the transaction	Place of the transaction	Form of the settlement	Category of the person
Snaigė AB ORS, LT0000109274	192,420	0.75	144,315	Transfer	Sale	25.03.2010	AUTO	Cash	2.4

Closely related with the Issuer's manager person's representative

Chairman of the board of "Hermis Capital" UAB

Nerijus Dagilis

Director of securities accounting manager Orion Securities UAB FMI

date of notification

Notification on the transaction (-s) in issuer's securities concluded by the manager of the issuer

Nerijus Dagilis, chairman of the board

name, surname, personal code and capacity of the notifying person, or the manager of the issuer, with whom the notifying person is closely associated

Snaigė AB, 249664610, Pramonės 6, Alytus

name and code of the issuer, its registered office address

Name and	Number	Price of	Total	Form of	Type of	Date of	Place of	Form of	Category
class of the	of	securities,	value of	transaction	transacti	conclusition	the	the	of the
securities,	securities	LTL	transacti	(acquisition	on	of the	transaction	settlement	person
ISIN code			on, LTL	or transfer)		transaction			
Snaigė AB ORS, LT0000109274	598,326	0.7025	420,324	Transfer	Sale	26.03.2010	AUTO	Cash	2.4

Closely related with the Issuer's manager person's representative

Chairman of the board of "Hermis Capital" UAB

Nerijus Dagilis

Director of securities accounting manager Orion Securities UAB FMI

date of notification

Notification on the transaction (-s) in issuer's securities concluded by the manager of the issuer

Nerijus Dagilis, chairman of the board

name, surname, personal code and capacity of the notifying person, or the manager of the issuer, with whom the notifying person is closely associated

Snaigė AB, 249664610, Pramonės 6, Alytus

name and code of the issuer, its registered office address

Name and class of the securities, ISIN code	Number of securities	Price of securities, LTL	Total value of transacti on, LTL	Form of transaction (acquisition or transfer)	Type of transacti on	Date of conclusition of the transaction	Place of the transaction	Form of the settlement	Category of the person
Snaigė AB ORS, LT0000109274	41,868	0.70	29,307	Transfer	Sale	29.03.2010	AUTO	Cash	2.4

Closely related with the Issuer's manager person's representative

Chairman of the board of "Hermis Capital" UAB

Nerijus Dagilis

Director of securities accounting manager Orion Securities UAB FMI